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Measuring Segments
1-3
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Reteaching

The Segment Addition Postulate allows you to use known segment lengths to find unknown segment lengths. If three points, A, B, and C, are on the same line, and point B is between points A and C, then the distance AC is the sum of the distances AB and BC.
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            AC = AB + BC
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If QS = 7 and QR = 3, what is RS?
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QS = QR + RS
Segment Addition Postulate
QS ( QR = RS
Subtract QR from each side.
 7 ( 3 = RS
Substitute.
                                                 4 = RS
Simplify.
Exercises
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For Exercises 1–5, use the figure at the right. 
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1. If PN = 29 cm and MN = 13 cm, then PM =                  .
2. If PN = 34 cm and MN = 19 cm, then PM =                   .
3. If PM = 19 and MN = 23, then PN  = 
4. If MN = 82 and PN = 105, then PM  =                     
5. If PM = 100 and MN = 100, then PN  =.
For Exercises 6-8, use the figure at the right.

6. If UW = 13 cm and UX = 46 cm, then WX =
7. UW = 2 and UX = y. Write an expression for WX.
8. UW = m and WX = y + 14. Write an expression for UX.
On a number line, the coordinates of A, B, C, and D are (6, (2, 3, and 7, respectively. Find the lengths of the two segments. Then tell whether they are congruent.
9. 
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 and 
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10. 
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11. 
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Measuring Segments
Reteaching (continued)
[image: image9.jpg]Problem




C is the midpoint of 
[image: image10.wmf]BE

. If BC = t + 1, and CE = 15 ( t, what is BE?
[image: image11.png]



The midpoint of a line segment divides the segment into two segments that are equal in length. If you know the distance between the midpoint and an endpoint of a segment, you can find the length of the segment. If you know the length of a segment, you can find the distance between its endpoint and midpoint.

X is the midpoint of 
[image: image12.wmf]WY

. XW = XY, so 
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 and 
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X

Y

 are congruent.


BC = CE
Definition of midpoint
    t + 1 = 15 ( t
  Substitute.
        t + t + 1 = 15 ( t + t
   Add t to each side.
   2t + 1 = 15
Simplify.
     2t + 1 ( 1 = 15 ( 1
Subtract 1 from each side.
    2t = 14
  Simplify.
   t = 7
Divide each side by 2.
                                       BC = t + 1
Given.
     BC = 7 + 1
  Substitute.
      BC = 8
  Simplify.
                                        BE = 2(BC)
Definition of midpoint.
                                      BE = 2(8)              
       Substitute.
                                       BE = 16
 Simplify.                                                      
Exercises
12. W is the midpoint of 
[image: image15.wmf]UV

. If UW = x + 23, and WV = 2x + 8, what is x?
13. W is the midpoint of 
[image: image16.wmf]UV

. If UW = x + 23, and WV = 2x + 8, what is WU?
14. W is the midpoint of 
[image: image17.wmf]UV

. If UW = x + 23, and WV = 2x + 8, what is UV?
15. Z is the midpoint of 
[image: image18.wmf]YA

. If YZ = x + 12, and ZA = 6x ( 13, what is YA?
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